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Hausübung 4 Lösung


	Teiler Ost
	
	wie eröffnen?
	Lösung
	Lizit

	♠ 7 5 4

♥ A D 10 2

♦ K D B 2

♣ 9 3
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West Ost

Suad




	♠ A D B 3

♥ K B 7 5

♦ 8 3

♣ D 10 2


	1♣ (13) 
längere UF
	1♣ - 1 ♦ - 1♥ -

4♥
EÖ + EÖ = 

Manche 

	♠ A 8 4 3
♥ D 9 4

♦ 10 3 2

♣ D 4 3
	
	♠ K D 6 3
♥ A B 10 5

♦ B 5 4

♣ K 8 

	1♦ (14)

längere UF


	1♦ - 1♠ - 2♠ -
pass

	♠ 7 5 
♥ A D 10 

♦ K D B 10 2

♣ 9 3 2
	
	♠ A D B 3 2
♥ K B 5

♦ 8 3

♣ D 10 2

	1♠ (13)
5er Oberfarbe
	1♠ - 2♦ - 2 NT -

3 NT

EÖ + EÖ = 

Manche

	♠ 7 5 4
♥ A D 10 2

♦ 10 9 7 2

♣ 9 3
	
	♠ A D B 3
♥ K B 7 5

♦ K 8 

♣ D 10 2

	1 NT (16)

rund verteilt
	1 NT - pass

	♠ A 7 5 4
♥ A D

♦ K D B 

♣ 9 3
	
	♠ A D B 3
♥ K B 7 5 3

♦ 8 

♣ D 10 2

	1♥  (13)

5er Oberfarbe
	1♥ - 1♠ - 2♠ - 
4♠  
EÖ + EÖ = 

Manche 


Bitte auch die Begründung dazu schreiben ☺
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